
Quiz 3*3 : z -- Itg X. yet are real numbers

f-Hip -- ye
'T and this expresses a

relationship between
them .

Tangent plane @ ""D= "' " . fix.gl
-

-Tty f is a function R'→Rcommon mistake was incorrect differentiation
,

often for fy .

and this defines f on
an arbitrary input.

fylx.gl ' e''Y t yetTx Note : fountain' defines the exact
- same function f.
You may

remember the tan. plane egn as
Z -- Zo t f× . Ix - x. ) tty - ly - got .

"

fix .
. Yo )



-

A mistake I saw was using t.cx.gl Two ways of writing tan . plane egn :
when supposed to use fxko.JO) '

z : fix
. .g.) t fix. . g.) Cx - xDOne then gets

E- 1+43×9 ) Cx - o)ttylxo.y.ky-y.lt/eMtxye''3) ly - Il Fix. . g.⇒ Cx - xd

This is definitely not a plane ! Plus it's tfycx.y.z.my - y . )
H )

way worse to compute than flap too . - -

tfzlxo.yo.to)H- Zo ) --0
This can be written as

RFK
.
) . (E- F.7=0 .



A mistake Isaw : ppl used H ) 22#1 :

with FH.y.tl -- ye
'T

.

-

what kind of object does
Correction : since we are looking@ ( f - 13,41 ) ) . (4-1,7)=0

z -- ye
'T

, rearrange to get en.Tdescribe?

s⇒ .

"

Flxiyit )



what does

⇐ - 130,171×42 ,-1,73=8
Does this go through Copp) ?

-
- Solt : 3+2-1--0

describe? Ot tht --0

It 7-1--0

This is a Hoghton .

an
line -through Sol 2 " (smh and 42 , -1,7 > areit 13,41) not parallel, so no .¥Ip.ir in the
direction

⇒ 4477

i



14.to#29 The direction of fastest change is 14.5*47
- u x

tf -- (2x -2,4g - H ) Z -
- IH tg7

:÷:;¥¥i÷÷÷ ! :S: rents
:*.⇒*aif = c 4,1 ) -

ZE positive real # .

Iµ
,{ 2×-2

-
- c x

4g - 4-- c xx! ) ! ' Hj
" 'T

You will find infinity manysolutions .

they should form a ray ) .



e.g. to compute z

¥ . ttxg④" I
Igf;) -- th# f''until ) za =2
-

u

+ t×g"Hill ) / D though of course you
× Y could 've done this

keep in mind
e.g, flu, is a function directly aswell . )

of u
,
which depends on xandg ,

so need chain rule to compute
⇒Html .


